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E–174 

M. A./M. Sc. (First Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

GEOGRAPHY 

Paper Second 

(Climatology) 

Time : Three Hours ]  [ Maximum Marks : 80 

[ Minimum Pass Marks : 16 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ok;qe.My dh lcls Åijh ijr dks 
-------------

 ds :i esa tkuk tkrk gSA 

¼v½ vkstksue.My 
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¼c½ lerkie.My 

¼l½ vk;ue.My 

¼n½ {kksHke.My 

The uppermost layer of atmosphere is known as .......... . 

(a) Ozonosphere 

(b) Stratosphere 

(c) Ionosphere 

(d) Troposphere 

2- ok;qe.My esa vkWxZu xSl dk izfr’kr  gS % 

¼v½ 0-28 

¼c½ 0-93 

¼l½ 0-78 

¼n½ 21-00 

Percentage of argon gas in the atmosphere is ........... 

(a) 0.28 

(b) 0.93 

(c) 0.78 

(d) 21.00 

3- dkSu&lh ok;qe.Myh; xSl lw;Zizdk’k ¼/kwi½ esa vf/kdre ijkcSaxuh 

fofdj.k fQYVj ¼Nkurh½ djrh gS \ 

¼v½ vkxZu 

¼c½ dkcZu MkbZvkWDLkkbM 

¼l½ vkstksu 

¼n½ ghfy;e 
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Which atmospheric gas filters out most of the ultraviolet 

radiation in sunlight ?  

(a) Argon 

(b) Carbon dioxide 

(c) Ozone 

(d) Helium 

4- fuEufyf[kr esa ls dkSu&lk ;qXe lqesfyr ugha gS \ 

¼v½ ok”ihdj.k % nzo dks xSl esa cnyus dh izfØ;k 

¼c½ la?kuu % xSl ls nzo esa cnyus dh voLFkk 

¼l½ rRo % ,slk inkFkZ tks lk/kkj.k jklk;fud ;k HkkSfrd lk/kuksa ds 

}kjk ljy inkFkks± esa fo;ksftr ugha fd, tk ldrs gSaA 

¼n½ pkyu % fofoDr inkFkks± ds NksVs VqdM+s tks lrg dk dk;Z djrs 

gS ftu ij ty d.k la?kfur gksrs gSaA 

Which one of the following pairs is not correctly matched ? 

(a) Evaporation : The process of converting a liquid to a 

gas. 

(b) Condensation : The change of state from a gas to a 

liquid. 

(c) Element : A substance that cannot be decomposed into 

simpler substance by ordinary chemical or physical 

means. 

(d) Conduction : Small pieces of discrete material working 

as surface at which water particles are condensed. 

5- fuEufyf[kr esa ls fdlus fo’o ds tyok;q oxhZdj.k ds vk/kkj ds :i 

esa o”kZ.k izHkkfork vkSj rkih; {kerk dk mi;ksx fd;k gS \ 

¼v½ fVªokFkkZ 

¼c½ FkkuZFosV 

¼l½ dksisu 

¼n½ dsUMª 
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Which one of the following used precipitation effectiveness 

and thermal efficiency as the basis of world’s climate 

classification ? 

(a) Trewartha 

(b) Thornthwaite 

(c) Koppen 

(d) Kendrew 

6- o”kkZ ds lEcfU/kr izfØ;kvksa dk lgh vuqØe crkb, % 

¼v½ vlarÌr ok;q] la?kuu] vksl fcUnq] vo{ksi.k 

¼c½ vksl fcUnq] la?kuu] vlarÌr ok;q] vo{ksi.k 

¼l½ vlarÌr ok;q] vksl fcUnq] la?kuu] vo{ksi.k 

¼n½ vksl fcUnq] vo{ksi.k] la?kuu] vlarÌr ok;q 

Identify the correct sequence of the given processes 

regarding rainfall : 

(a) Unsaturated air, condensation, dew point, precipitation 

(b) Dew point, condensation, unsaturated air, precipitation 

(c) Unsaturated air, dew point, condensation, precipitation 

(d) Dew point, precipitation, condensation, unsaturated air 

7- iF̀oh ds ?kw.kZu ds dkj.k gksus okyk iou fo{ksi ¼fopyu½ D;k dgykrk 

gS \ 

¼v½ Hkwe.Myh; iou 

¼c½ Hkwfo{ksih iou 

¼l½ vkdfLed iou 

¼n½ cykr~ iou 
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When the wind is deflected due to the rotation of earth it is 

known as : 

(a) Planetary wind 

(b) Geostrophic wind 

(c) Accidental wind 

(d) Forced wind 

8- fuEufyf[kr esa ls dkSu&lh izkFkfed gfjr xSl oSf’od Å”eu ls 

lEcfU/kr ugha gS \ 

¼v½ tyok”i 

¼c½ dkcZu MkbZvkWDlkbM 

¼l½ ehFksu 

¼n½ gkbMªkstu 

Which one of the following primary green house gases is not 

associated with global warming ? 

(a) Water vapour 

(b) Carbon dioxide 

(c) Methane 

(d) Hydrogen 

9- fuEufyf[kr esa ls dkSu&lk {ks= Xyksc ds ^dkcZu flad* ds :i esa tkuk 

tkrk gS \ 

¼v½ vaVkdZfVdk 

¼c½ lokuk 

¼l½ mŸkj&if’peh ;wjksi 

¼n½ m”.kdfVca/kh; o”kkZ ou 
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Which of the following regions is known as the ‘Carbon 

sink’ of the globe ? 

(a) Antarctica 

(b) Savannah 

(c) North-West Europe 

(d) Tropical rainfall 

10- Hkwe/; js[kk ls ysdj /kzqoksa rd nkc vkSj okr~ dk lgh lrgh ?kVd Øe 

fuEufyf[kr esa ls dkSu&lk gS \ 

¼v½ /kzqoh; iqjok gok] if’peh gok,¡] miks”.k mPpnkc] O;kikfjd 

iou 

¼c½ miks”k.k mPpnkc] if’peh gok,¡] O;kikfjd iou] /kzqoh; iqjok 

gok 

¼l½ O;kikfjd iou] /kzqoh; iqjok gok] if’peh gok,¡] miks”.k 

mPpnkc 

¼n½ O;kikfjd iou] miks”.k mPpnkc] if’peh gok,¡] /kzqoh; iqjok 

gokA 

Which one of the following is the correct sequence of  

surface components of pressure and wind from the equator to 

the poles ? 

(a) Polar easterlies, westerlies, subtropical highs, trade 

winds. 

(b) Subtropical highs, westerlies, trade winds, polar 

easterlies. 

(c) Trade winds, polar easterlies, westerlies, subtropical 

highs. 

(d) Trade winds, subtropical highs, westerlies, polar 

easterlies. 
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11- FkksuZFosV oxhZdj.k esa nf{k.kh xaxk eSnku dh tyok;q fdlds }kjk 

lwfpr dh tkrh gS \ 

¼v½ BA W 

¼c½ CA W 

¼l½ AA W 

¼n½ CW W 

The climate of southern Ganga plain in the Thornthwaite 

classification is denoted by : 

(a) BA W 

(b) CA W 

(c) AA W 

(d) CW W 

12- tsV LVªhe gS % 

¼v½ LFkkuh; gok,¡ 

¼c½ unh dh lgk;d 

¼l½ Åijh if’peh gok,¡ 

¼n½ xeZ /kkjk,¡ 

Jet Stream is : 

(a) Local wind 

(b) Tributary of a river 

(c) Upper air westerlies 

(d) Warm current 



 [ 8 ] E–174 

13- dsUnz ij mPPk nkc okys ok;qnkc dks D;k dgrs gSa \ 

¼v½ xrZpØ 

¼c½ okrkxz 

¼l½ pØokr 

¼n½ izfrpØokr 

The pressure system with higher pressure at the centre is 

called : 

(a) Depression 

(b) Front 

(c) Cyclone 

(d) Anticlone 

14- ,y fuuks D;k gS \ 

¼v½ izoky fHkfŸk 

¼c½ LFkkuh; iou 

¼l½ ,d i{kh 

¼n½ is: ds fudV pyus okyh ,d vlkekU; xeZ /kkjk 

What is EL Nino ? 

(a) Coral reefs 

(b) Local wind 

(c) A bird 

(d) An abnormally warm current neat the coast of Peru 



 [ 9 ] E–174 

 P. T. O. 

15- fuEufyf[kr esa ls ok;q jkf’k ladYiuk dks fdlus fodflr fd;k Fkk \ 

¼v½ oh- odZusl 

¼c½ ,sojØkWEch 

¼l½ ‘kkW ,oa ysEQVZ 

¼n½ fidkMhZ 

Which one of the following developed air mass concept 

developed ? 

(a) Vilhelm Bjerknes 

(b) Abercromby 

(c) Shaw and Lempfert 

(d) Picardy 

16- okrkoj.k esa Dyksjks¶yksjksdkcZu dh of̀) fuEufyf[kr ls lEc) gS % 

¼v½ l?ku /ofu iznw”k.k 

¼c½ tyh; thoksa esa {k; 

¼l½ vkstksu {k; 

¼n½ leqnz ry dk mRFkku 

The increase in the cholorofluorocarbon in the atmosphere is 

associated with : 

(a) Noise pollution 

(b) Aquatic depletion  

(c) Ozone depletion 

(d) Rise of sea level 
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17- lw;kZri dh lcls T;knk ek=k izkIr gksrh gS % 

¼v½ Hkwe/; js[kk ij 

¼c½ m”.k dfVca/kksa esa 

¼l½ miks”.k dfVca/kksa esa 

¼n½ e/; va{kk’kksa esa 

The highest amount of insulation is obtained :  

(a) At the equator 

(b) In tropics 

(c) In the sub-tropics 

(d) In middle latitudes 

18- eq[; dkjd tks fdlh {ks= dh tyok;q dks fu/kkZfjr djrk gS] og gS % 

¼v½ Å¡pkbZ 

¼c½ v{kka’k 

¼l½ ouLifr dk izdkj 

¼n½ leqnz ls lehirk 

The main factor that determines the climate of an area is : 

(a) Height 

(b) Latitude  

(c) Type of vegetation 

(d) Seaside 
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19- ‘kq”d ,oa m”.k ok;q jkf’k dgk¡ mRiUu gksrh gS \ 

¼v½ xeZ vVykafVd ij  

¼c½ xeZ iz’kkar egklkxj ij  

¼l½ m”.k@miks”.k e#LFkyksa ij 

¼n½ Hkwe[; js[kh; isVh esa 

Warm and dry air masses originate in : 

(a) The warm Atlantic 

(b) The warm Pacific 

(c) Tropical/subtropical deserts 

(d) Equatorial belt 

20- ok”iu ds xqIr rki dk lokZf/kd egRoiw.kZ lzksr D;k gS \ 

¼v½ egklkxj 

¼c½ ok;qe.My 

¼l½ es?k 

¼n½ dksgjk 

The most important source for the latent heat of evaporation 

is : 

(a) Ocean 

(b) Atmosphere 

(c) Cloud 

(d) Fog 
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 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A dsoy nks ls rhu okD;ksa esa 

mŸkj nhft,A 

 Attempt any eight questions. Write your answer using  

2-3 sentences only. 

1-  lw;kZfHkrki ls D;k vk’k; gS \ 

What do you mean by Solar Insulation ? 

2- tyok;q foKku fdls dgrs gSa \ 

Who is called climatology ? 

3- iou D;k gksrh gS \ 

What are wind ? 

4- Å”ek ds LFkkukarj.k dh izfØ;k D;k gS \ 

What is the process of transfer of heat ? 

5- tsV LVªhe ls vki D;k le>rs gSa \ 

What do you understand by Jet Stream ? 

6- iEikt fdls dgrs gSa \ 

Who is called Pampas ? 
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7- gfjr xg̀ izHkko ls vki D;k le>rs gSa \ 

What do you mean by Greenshouse effect ? 

8- ekuo tSo ekSle foKku fdls dgrs gSa \ 

Who is called Human Biometeorology ? 

9- tyok;q dkykuqØfedh fdls dgrs gSa \ 

Who is called climochronology ? 

10- ekulwu fdls dgrs gSa \ 

Who is called Monsoon ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A vf/kdre 75 ‘kCnksa esa mŸkj 

nhft,A 

 Attempt any eight questions. Write your answer using  

< 75 words. 

1- ok;qe.My dks ifjHkkf”kr dhft, ,oa ok;qe.My ds lHkh laLrjksa esa 

{kkse.My lcls vf/kd egRoiw.kZ D;ksa gS \ 

Define the atmosphere and why is the troposphere the most 

important of all the layers of the atmosphere ? 
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2- tyok;q foKku ds mís’; ,oa fo”k; {ks= dks fyf[k,A 

Write the scope and object of climatology. 

3- ifjpkyu] laogu ,oa fofdj.k dks le>kb,A 

Explain the conduction, convection and radiation. 

4- dksfj;ksfyl cy dks le>kb,A 

Explain the coriolis force. 

5- vkstksu ijr ds {k; ds dkj.kksa dks mYysf[kr dhft,A 

State the causes of ozone layer depletion. 

6- ‘khrks”.k dfVca/kh; pØokrksa dh ekSleh fo’ks”krkvksa dk o.kZu dhft,A 

Describe the weather characteristics of temperate  

cyclones. 

7- O;ogkfjd tyok;q foKku ls vki D;k le>rs gSa \ 

What do you mean by applied climatology ? 

8- e#LFkyh; tyok;q dh izeq[k fo’ks”krk,¡ crkb,A 

Describe the major characteristics of Desert climate. 

9- gsMyh dksf’kdk dks le>kb,A 

Explain the Hadley cell. 

10- okrkxz fuekZ.k dks le>kb,A 

Explain the construction of the front. 
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 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha pkj iz’uksa ds mŸkj nhft,A vf/kdre 150 ‘kCnksa esa mŸkj 

nhft,A 

 Attempt any four questions. Write you answer using  

< 150 words. 

1- ok;qe.My ds la?kVu dh O;k[;k dhft,A 

Explain the composition of the atmosphere. 

2- ,y fuuks ,oa yk fuuk ifj?kVuk esa D;k vUrj gS \ 

What is the difference between El Nino and La Nina 

phenomenon ? 

3- dksisu ds fo’o tyok;q oxhZdj.k dk fooj.k nhft,A 

Give an account of the Koppen’s classification of World 

Climate. 

4- iF̀oh dh tyok;q esa fdl izdkj ds ifjorZu gq, gSa \ blds dkj.kksa ,oa 

lk{;ksa ij izdk’k Mkfy,A 

What kind of changes have occurred in the climate of the 

earth ? Throw light on their causes and evidences. 
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5- iF̀oh ds Å”ek larqyu dh izeq[k fof’k”Vrkvksa dk o.kZu  

dhft,A 

Describe salient features of the heat balance of the  

earth. 

6- xzgh; iouksa dh fo’ks”krkvksa dk o.kZu dhft,A 

Describe the characteristics of planetary winds. 
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